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According to the Union Budget 2023- -24, ho 3 o 3;%3;;1;2 gard a’_ﬁ & forg ﬁ‘lﬂm
many skill India international centres aré to be ﬁﬁ%ﬁ'ﬂ By
xroat # faﬁrff PIYeT AR WMy

set up across different states to skill youth for
international opportunities? w
(a) 40 (b) 20 : 840

Y 30

() 30 (d) 50 :
Who was the leader of rebellion in Bareilly, Uttar 1857 § Eﬁ"?ﬂ ]

Pradesh during 18577 (@) goRd wT (b) T TR
a b b : ;
(a) Hazarat Mahal (b) Nana Sahe | E]'Ff (@) Ep;EI‘\’ o

(¢) Khan Bahadur Khan (d) Kunwar Singh

Which one of the following is the largest coal
producing centre of Ukraine?

(a) Donetsk (b) Kyiv

(¢) Kharkiv (d) Zaporizhzhia ; ; Ty,

In December, 2022 New Zealand passed the * TR, 2022 # <fiee 7 arTell Uidt @ foay
world’s first Law to ban smoking for next R yfey < are fa9g BT UEe S
generation. New Zealand’s goal is to be “smoke- uiiRa | ] LI R %
FBE™ B s L i ' g 8 "EHATT JaT | _

(a) 2030 (b) 2024 (a) 2030 b) 2024

(c) 2025 (d) 2029 _ 2025 (d) 2029

Which among the following (Provision — Part oft\ 3/ fAmiferaa # kil (ST — <fqum @
the Constitution) is not correctly matched? ) | gaferd

(a) Tribunals —Part XI = BT — AT XI

(b) The Union Territories — Part VIII (b) e 5T &F — WRT VI

(c) Official Language — Part XVII (C) ITSTHIET — H|IT XVII

(d) The Scheduled and Tribal Areas — Part X | (9 SR 3R STy & — WNT X

The Constitution of India initially permitted the 6. /e Wi = ww ¥ frg iy & fog
use of English language for all official purposes WEN Seedl Bg IS 9N B SYART @ fov

‘foraperiod of - AR ua™ @ Al?

(a) 5 years (b) 10 years (a) 5 - (b) 1098

(c) 15 years (d) 20 years \LP)/ 1599 (d) 2098

Which of the following is an insectivorous plant?  7- feifoilRad & kil T o 87

(a) Nepenthes (b) Nelumbo \/;))ﬁﬁm Mg

(¢) Nyctanthes (d) Nicotiana [REERK (d) feifear

A geographical unit that collects, stores and 8 TP Hrmiferd S Ul By ghcal <l ®
release water is called - " 2eR A1 [BATE TR Bredl ®, S FEd § -
(a) wet land (b) Waste land ] (a) A (b) et qifq
‘y)‘xater reserve (d) Watershed &1 B (d) STefMTST®

Who authored the book “The Challenge of Worlg 9 /& Teial 3iTh doe qm-(ﬁ T faras ﬁ:ﬁsﬂ?
Poverty”?

(a) Amartya Sen R}*)/G:nnar Myrdal (@ anfe ¥ \_P’/ TR fAsa

(¢) Jean Dreze (d) Adam Smith (c) war w (d) Tew Re

(D-1-23] 153101 R~ W
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10.

11.

12.

13.

14.

15.

Which of the following is not a part of the 10 Fr=ifofad # & @ waxcda wfer @

Article 20 of the Constitution of India? &Iﬂi@'q' 20 &1 fewar & 87
(a) Prohibition Against (b) Prohibition against (a) gram & fIog (b) vt o g

Torture Self Incrimination e BF & oy
(¢) Ex-post Facto Law: (d) Double Jeopardy - \/4'1/ Ry '

d
Clause PHARR () B qUE P ERT

‘Milind Panho’ is in the form of a dialogue | WA\ rer o fifer o ve dig fig @
between King Milind and Buddhist Saint. The wIH R I8 ﬁ’fﬁ o —
concerned saint was - ) W (b) HReT e
(a) Nagarjun (b) Kumaril Bhatt = N

(c) A ITTHE (d) AT

[ & SYANT e Afaw & fog I HRev
A AALIEHAT DT G FY P 89 9T Bed

(¢) Nagbhatt (d) Nagasena

What do we call: balancing the need to use
resources and also conserve them for the future?

(a) Future resources  (b) Resource ' 7
‘conservation (a) vfisy B RS (b) T FReToT
(¢) Reducing (d) Sustainable O A -
consumption development
Match list-l with list-Il and select the correct \"%ﬁ’jq:ﬁ GCll q ﬁﬁﬁﬁ PITQ = '\‘Lﬁiﬁ
answer using the code given below the lists — @ W RY 1Y g 9§ wel SR gAY —
List -1 : iielan
Book qE o
(A) Mirat-e-Sikandari . - (A) PerTT—T— Ryt
(B) Burhan-e-Masir ' (B) REF—T—HIRR
(C) Riyaz-us-Salatin o (C) RaTs—sa—wata
(D) Riyaz-ul-lnsha . (D) ﬁtrra—aﬁa—s"&n
List — 11 ' , Wﬁi’r—-u
Context
(1) History of Bengal ~ _ . (1) T BT gﬁ-'rerrﬂ
(2) History of Bahmani’s Ahmad Nagar (2) 989 B ITHAGTIR DI sﬁ-‘lgﬂi
(3) Collection of Mahmood Gawan'’s letters | (3)WEHE AT B A @ WU
(4) Victory of Gujarat _ (4) TToRTaT s
Code - : 6 —
(@) A-(2), B-(4), C-(1), D-(3) - (@) A-(2), B-(4), C-(1), D-(3)
(b) A-(4), B-(2), C-(1), D-(3) A-(4), B-(2), C-(1), D-(3)
(©) A-(4), B-(2), C-(3), D-(1) (©) A-(4), B-(2), C-(3), D-(1)
(d) A-(1), B-(2), C-(4), D-(3) (d) A-(1), B-(2), c-(4)’ D-(3) -
When was the Census work done for first time i ~14 TRer % S=orT &7 BRI GaweH &4 f&ar T
India? o7
(a) Inthe year 1861  (b) In the year 1850 (@) o 1861 % (b) o 1850
(c) Inthe year 1871  (d) In the year 1881 () 7 1871 % a§ 1881 H

Which of the following is not an economic 15, fFrsfeifae 3 < o o anffe frar w8l 8?2

activity?

(a) Transportation (b) Farming (@) R (b) et ()
(c) Service (d) Voluntary Social (€) ey \ﬁm ST T
Service

e |
(D123 153101 Bugs 81152 [y



16. With reference to the Human Development

Report, 2021-22, which of the following

statement is/are correct?

(1) India’s rank on the Human Development
Index has upgraded from 130 in 2020 to 132
in 2022.

(2) India’s rank on the Human Development .

Index has stipped from 130 in 2020 to 132 in

2022, »
Select the correct answer using the code given
below - :
Code -

(@) Only1 (b) Both 1 and 2 ‘
(¢) Only 2 (d) Neither1nor2

17. Who among the following is the first women
Speaker in Lok Sabha?
(a) Meira Kumar (b) Urmila Singh
(c) Pratibha Patil (d) Sushma Swaraj

18. Which of the following statements is not true
regarding ‘Gram Sabha'?

(@) It has the powers and functions at the village

level, like state Legislature has at the state
level.

(b) Its powers are determined by the Central
Government. \
(©) It is a Village Assembly consisting of all
registered voters in the area of Panchayat.
(d) (a) and (c) both
8. World Social Protection Report is published by -
(@) World Bank (b) International Labour
Organization
(d) World Health
Organization

(¢) World Economics
Forum

18. w1 e RAYE, 2021-22 3 e &, Prafifag
A B B w & /27
Awﬁmwﬁmﬁaﬁ%ﬂﬁmzoﬁ
130 9 I B} 2022 F 1328 TS B
(2)Wﬁfﬁfﬂwﬁmﬁaﬁ gl 2020
1309 2022% 132 % AR TE 2|
%Wﬂﬁ?ﬁi@'ﬂ&tﬂq’ﬂﬁdmiﬂw '

®ifrg

T
(@) waer 1 [ 139 2
Pt 2 a‘rlm‘é’tz
17. AT B UM Al We A A 9 P ¥
HRT AR b) Sfierm Riz
(©) wferr wifeet (A) o T

18. ﬁtrﬁvr&qazﬁem‘rﬁﬁ T AT’ a%wﬁaﬁw

w | 27
39 B IR
%G’m'ﬂwl

[ U1 &R W) Sl DR
B I TR R 21

| ©ET WoOR &

20. The “NISAR satellite” is jointly developed by/\A‘ﬂw Suwe” Ffoed & @ ﬁﬂ FIeHl gl

which of the following organizations?
(a) ISRO and NASA (b) ESA and NASA
(c) ESA and ISRO (d) ROSCOSMOS ang

CNSA
21. All elections to the Panchayats are conducted
by -
(a) State Election (b) State Legislatyre
Commission
(c) Election Commission (d) Panchayat; Raj
of India Commission
[DT_I"IZB] 153101 | Page 4 o 32
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22,

23.

24,

29.

—————

Example of Lotic ecosystem is - ?\2}“‘4 giRRerferast HEEW P
EBISIE KK

(a) Ponds (b) Rivers (©) TS 8 (et ) Tere

(€) Marshy area (d) Swamps uRa)

Which of the following is mRNA vaccine used 29 freifeiRacr % A @5 w1 mRNA TR 8, Roraas
against Covid-19 infection? ¢ U PifAS-19 WEher & free far simar 27
(a) Sinovac (b) Moderna '_ﬁ/ﬁi[ﬂﬁfﬁ (b) #HfeTT '
(©) Sputnik (d) Novavax (©) - @ “Trarded |
Which among the following ruler of. Kashmip 24 Raa % ¥ &R & fbg wmas 3 wform
abolished Zaziya and Cow Slaughter? 3R T &1 BT e fan?

(@ Zain-ul-Abidin (b) Sikandar Shah Sl EA (b) RyFex 7me

(¢) Shamsuddin Shah  (d) Haider Shah (c) Tr=gEI T8 (d) gex oI

Which of the following Scorpene Class 25 frfafad & ¥ fbg woidi 2ot &1 goiga &
Submarines was commissioned into Indian Navy - A<, 2023 ® YRAG K= 3 e fear Tar?
in January, 2023? : % &

(2 INS Karanj ~ (b) INS Kalvari () SMETATH. B /\(b) S TATH. Herardd
(€) INS Vagir (d) INS Vela (¢) $e TATH. qRTR SMETATH. Fat

Consider the following deserts and arrange them , 26. FrefafRad Rami X foar oI o S=%
in increasing order of their size (from smallest to TP AMHR B dod PA H AIRAT PIoY (G4

largest) — BIC A WY fa%gd a®) —
(1) Great.Sandy desert ' 1) 1j-c," Jud ASRA
(if) Arabian desert . (1) IRfATT TR

(111) Szhara desert
(IV) Gobi desert
Select the correct answer using the code given

(1) FERT AHRIA
(IV) ME TowRre

- belom - 9 RE T B § 9 SW =
AJ v, 11, 111 (b) 11, 1, 111, IV BY1, v, 11, i (®) m, 1, 11, wX
© 11,1V, M (@) 1,11, 1V, 11l © 1,1, 1v, 1 @ 1, 0,10, 1
Sezweeds are important source of - | 27,/ e Yarer fraa wewaqui -4
(2) pArgon (b) lodine (@) amfsr @ IMSH B
(c) Chlorine (d) Bromine (¢) T @ (d) gf= @
When did the Water (Prevention and Control of['\QJ/ Sl (Srpam wd wemer feimen) sl 3
Pollution) Act was enacted in which of the PreifiRaa & Q R 9§ qeTa A
following year?
(@) 1974 (b) 1976 19747 (b) 1976 ¥
(c) 1975 (d) 1977 (©) 1975 (d) 1977 %
In National Parks, Genetic diversity is maintained” 2% &Y% Qepsy ¥ 3 fafaeren &1 I@—xETE

i A
(a) In-situ conservation (D) Ex-situ conservation (a) ‘z;?{mqﬂq\ it —HIe, ARET g1
(¢) Gene pool (d) None of the ahove (©) ey Ul gRI (d) Sugfa A & ®TE TEl

PRl T



 35. plane of which Airline crashed i Nepal

30. Which of the following (Scheme — Year) is N0}
correctly matched?
(a) Rural Housing Interest Subsidy Scheme - 2017
(b) Sansad Adarsh Gram Yojana - 2014
(c) Shyama Prasad Mukherji Rurban Mission -

2015 -
(d) Deen Dayal Upadhyay Gramin Kaushalya
Yojana - 2014 '

31. Among the following, which country has declared
to remove the British Monarchy from its Central
Bank Currency Notes on 2™ February, 2023?

(a) Nepal (b) Canada
(c) Australia (d) SriLanka

32. With reference to the “EL-NINO”, which of the

following statement/s is/are correct?
(1) El — Nino involves appearance of warm
current of the coast of Peru in eastern pacific.
(2) This warm current increase the temperature
of water on the Peruvian coast by 10°C there
by increasing the amount of Plankton in the

sea.

Select the correct answer using the code given -
below —

Code -

(@) Only 2 (b) Both 1 and 2

(c) Only 1 (d) Neither 1 nor 2.

w

33. In 1918, the United Provinces Kisan Sabha was 33

formed by which of the following leaders?

(a) pt. Jawaharlal Nehru (b) Baba Ramchandra
() Swami Sahjanand  (d) Indra Narayan
Saraswati Dwivedi

4. Which among the following organisations was
responsible for throwing a bomb at Viceroy Lord
Hardinge in Delhi?
(a) United Patriotic

Association
(c) Yugantar

(b) All India Laboyy
Association
(d) Anushilan Samitj

January, 2023?
(a) Yeti Airline
(c) Nepal Airline

(b) Tara Airline
(d) Buddha Airline

D-1-23] 153101
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31.

. o), 2023 W fFE ORE

ﬁ@czmw(mw ) W

Hﬁr&‘m T 27

(@) Txer grafRi afeas! WM — 2017
(b) wiag AT — 2014

(c) ward e — 2015

&9 g SURATg UTHOT HIEAT AT —
2014

2 9Rad), 2023 By, fAEfelRaa 7 & fa <wr 3
D dob B I Bl Al ¥ ey Iormd

(c O{
“re—AT" Eﬁmﬁﬁ, ﬁwf%ﬁﬁaséﬂ‘iﬁﬁ
DI AT/ TE 2 /87

(1) m—ﬁﬁﬂsﬁ,mmﬁi%\aﬁ}zm

T GRS BT Yhe BIFT A B |

(2) T8 T uRT U $ a9 W UF @ AEE 3

10°C % waT o, 2, Rrwd wge A wiee
&Y AT GG | VQ

e iy g @e SR T —
w- \’(
@ 2 _ ) ST 1 74 2
Bad 1 (d) T a1 41 8 2
918 & WYHT Wiff fhaM W1 &1 oA = A

o (0) arpefier wfAfd
1 fw et
GUTHATING §a3N?

) TRT QIRATE
QRIS (A\ g1 TaRenE

A




36." Who is the Author of the famous Novel “All the %. wife W PR, 2022 HT<E aT\'eT Eﬂ?f
Lives We Never Lived”, which received the yfig ST T g § TR e b
Sahitya Akademi Award, 20227 ' W T

'~ (a) Shobha De (b) Anuradha Roy . a) W S \/ﬂ{ RN >
(c) Anita Desai (d) Sudha Murthy (c) CEIRIIERIE (d) <gem #ff
37. Which statement is true for Finance Sector (Fiscal 37. @i d9c—2023 # fa<hg &= A (7&"|T"'E"7\11ﬂ'"J
Management) in the Union Budget-2023? yawE) @ [ B a1 9 w8 87
(a) Budget estimates - 2023-24 for total " (a) 2023-24 @ qOIC ATAMI H A AY 55 AE
expenditure is X 55 lakh Cr. '

(b) Fiscal Deficit 2025-26, the target is to be
below 5.5%.

(c) Fiscal Deficit of 3.5% of GSDP allowed for
states. |

(d) Twenty years interest free loans to states.

38. Which of the following (Union Budget Y P9 P (=g e ﬁMFT
Departments 2023-24 - Allocation amount 023-24 — ARG amdfed wifdr %) @& gafea
approx. % ) is correctly matched? 27 |
() Dept. of Health Research —¥ 9,155 Crore (a) =Y WY i%mm 19,155 FRIS ?@
(b) Ministry of Health —X 89,155 Crore (b) oo \ABISs AIE T S
(c) Eept of Health and Fam1ly Welfare —< 80,000 ﬁ wd IRAR EFG?JTUT H3Ted — 80,000

rore
(d) Pradhan Mantri Jan Arogya Yojana — ¥ 5,000 m £
Crore | (@ S AR ?:nm:n — 5,000 RS

39. with reference of the election of the Vice & SwIgufy @1 fates, R |ar
President of India, which is declared void by the R I it e T T ® Hed H
i:;;reme ;m.lr; of India, ::hich of the followi y J B /N BT TE /¥

atement/s is/are correc .

(1) The acts done by him as Vice — President - RS ® w ¥ W PR H eI Tq‘
before such declaration are considered valid. e gRT fby ¢ BRifAfE A B 1

(2) The acts done by him as Vice — President on (2) SRTEUfT P ®9 H 3T TBR DI Hiyen 8N
the day of such declaration are not considered & o 9uo grT fdu v PRI = TE
valid. o ¥

Select the correct answer from the code glven !

e A Ry 1Y ge & W SR B AT DI —

Code - @ - \/((

(@) Neither1nor2  (b) Only 1 (@) 7 @ 197 & 2 ) dad 1

. (9 only2 (d) Both 1:and 2 ) Bl 2 (d) T 1T 2

40. Which one of the following (Place of the revolt of / B b (1857 & fagte &1 ®H
1857 — Start of rebellion) i ctl : :
matched? 6 TR e T faﬁ% Gl aﬂw) ﬁ@f ghfera & &7
(a) Lucknow —4 June, (b) Barrack — 29 March, — 43, (b) — 29 HTH,

1857 y . 1857
; 1857
(¢) Jhansi — 11 May, (d) Meerut — 10 May,”
1857 1857

— 117¢, 1857 (d) 3RS — 107E, 1:7

Iy
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M- 9 PR Wered, R € gy

™
%Wﬁﬁmﬁr@amﬁﬁ#zﬁh

' who
4, With reference to the Pope Benedict XVI, ;
t/s

died recently, which of the following statemen

Wy
?
is/are correct? ) Wl %/‘%
1. He was a native of Germany. L. 98 SoF @ wer fard o
2. He was the first Pope to resign in 600 years. 2.8 600 a4l % FRIHT I AT UB Uy ¥
Select the correct answer using the code given D R T 3 W v 9w g —
below - P —
Code - )
(@) et 2 - ) T A1
(@ Only 2 (b) Neither 1 nor 2 ( o L
; c) Bae d) i
(© Only1 (d) Both 1and 2 % 1 : e
“Z Tappa style of music was refined and developed 542' W @z e Frfora * ¥ fw T
. L0
in which of the following Mughal Emperor’s HEE © RgR | vq Al 522
t? '
% (@) wrefific \}”/
(@ Jzhangir (b) Akbar
(©) Shahjzhan (d) Muhammad Shah ) - @3 =
N < G oAE
7% The Xylem in plants is responsible for 43. Gyt ¥ Sgem wRagT & forw R erR e 2 -
Uzar rting - o ~
. nsporting | &2 \%sz’m:[ (b) TfY ofye
‘2) Oxygen (b) Amino Acid L : '
(S Water (d) Food - o) = i :
- Which of the following statement s true? 4. FrfeRad § X B9 w1 wom by &2
2 Tide comes on the earth every day after fg' (@) gedt &Rk yffRes ‘cﬂiﬁ 12 ©< 30 fA¥e I wR
exzctly 12 hours 20 minutes, .
= 3T & |
) Benguelz current is 3 cold current of the m . X
padfic ozean, (b) P IO UK §|
(€) Ocezn zlinity is maximum at the Tropic of (O TR Srevrar < AUREAR G
Cancer znd Capricorn, al@‘l"rﬁm Bl ¥
(9) If the wn, the €arth and the moon are jn i f Y T
straight line then this situation s the satuation* D @ -‘llﬂ‘ E!%ﬁ T AR
of small tide. L0 Reifer org war o Rerfy &

45. ia’s rank in the _
5. What was India’s rank in the world Ereenhoys 45, 2022 fgg % M wrow b srerad 7 @
gases emission in 20227

) 100 " g s gy egp?

(a) 10 ) gt . _
) 104§ (b) 9gf

(c) 11 (d) 17w

() 11df (d) 124f

L
5
A T

[D-1-23] 153101




46.

48.

Match list1 with listl and select the correct/ 46 W Y Tl & ghftrr ifore e At
‘ Fe BT AR IS WEl IR PTG

answer using code given below -

List - | List - 11 M -

(Diseases) .(Fal:turs) < '\'fﬂ )l ?j;%)"
(A) Peptic ulcers . (1) Virus b A (5 SR o7 (1) fraror
(B) Dengue ) Protozoa E‘é \ (8) ¥, 2) WrEraRI
(C) Elephant Foot -~ (3) Worm “  (c) W dfd (3) A
(D) Malaria ../ (4) Bacteria . (D) HolRam (4) foaroy
Code - Qe — .
(3 A42), B-(3), C-(4), D-(1) (@ A-(2), B-(3), C-(4), D-(1)

A-(4), B-{1), C-(3), D-(2) v < \)A'(‘l): B-(1), C-(3), D-(2)

(© A-(4), B-(2), C-(3), D-(1) ) () A-(4), B-(2), C-(3), D-(1)
(d) A-(3), B-(4), C-(2), D-(1) = ) A-(3), B-(4), C-(2), D-(1)

- Which officer was known as ‘Bhagadugha’ durin‘é:J 47. Eb-ﬁ'ﬂ"f T H ATTgE DI SRSRY A1
Vedic administration? (a) IST PR ST B (b) FHAER qgirﬁ arelt
() Revenue Collector (b) Messenger | qTeT e
(¢) Chief Officer of (d) Chief (?fficer of the (©) ST BT WE (d) S fwmT &1 wE

Forests Gambling e . _
Department At
Which among the following is a constituent ¥ Wpld T FT T UCD DI

natural silk?
(@) Phosphorus (b) Nitrogen
(c) Magnesium (d) Potassium

chronological order? :
(2) Jallianwala Bagh  (P) Moplah Revolt
Massacre
(c) Khilafat Movement (d) Home Rule
Movement
with reference to mineral resources, which of 50/ fier wrqaT & W #, FrfoRaa Al H A
the following statement/s is/are correct?

ey H /N T 8/
1. Lithium’s inferred resources have heen found \/X;l‘ R B RO R A AR &

in Reasi district of Jammu & Kashmir. " ; vy &
2. India is import dependent for many minerals \)}‘”ﬁw AEEL 'H“E. R Mel 2
like Lithium, Nickel and Cobalt. ARG oM @iet wen ohitrm, e @en

Select the correct answer using the code given Baree @ fg s W AR E
below — A fad ®Qe Jq HEl OTR tllilq e
Code - e~
b
(c) Both 1and 2 CIHIENEnanE = &MY 1 3R 2 (d) = @Y 171 & 2

—e90f32
B Bag O T

]



resent
51. be used by the P
Natural resources should minimum

generation in such a way that if there Is i
degradation of natural resources, then wha
of development would it be called?
(@) Organic (b) Sustainable
Development Development
(€) Social Development (d) Economic
Development
52. The resignation letter by a Judge of Supreme
Court is addressed to -
(& The Chief Justice of (b) The President
India
(€} The senior most
Judge of Supreme
Court

(d) The Prime Minister

5. Which of the following is not correctly matched? 53. fy=faRaa & @

(&) Gulbadan Begum — Daughter of Babur

®) Iitutmish — Father of Razia

(€} Hamida Banu Begum — Wife of Allaudin Khilji -
(@) Shzh Turkan — Wife of Iltutmish

=% Which of the following Provision is a part of both-

Directive Principles of State Policy an

Fundzmental Duties?

{2} Participation of workers in management of

industries
o) Protection of environment
‘©) Guardians to provide opportunity for
educztion to children
©) Uniform Civil Code
5. With reference to the scheme wise allocation in
the 2022-24 Union Budget, which of the
following stztement/s is/are correct?

(1) Compared to the previous year, highest

percentzge of decline has been recorded in

' the zllocation for IMGN REGA,

(2) Compared to the previous year, highest
percentage of growth has been recorded in
the allocation for Jal Jeeyan Mission,

Select the correct answer using the code given

below -

- Code -
(a) Neither 1 nor 2 (b) Only 1
(c) Both 1and 2 (d) Only 2

54,

¢ v:mﬁwmﬁﬁmﬁmﬁ
N e sy s el e B e
&RVT 8Y, Y u® b weR @1 fAdrT wear?
(@) SiRw R ) wrcrd fadra
(c)l'\rrrrrrﬁjmﬁmm (d) anfeie faemrer

2. Wyafe ~immer @ ue =i B -

HR & & —

(8) *IRey & Tz ) Rrezfer 1
IS I

(©) warem =marerg &
aRssaw =mardier &)

a1 w8 gafora T8 27
- (@ /4 qER B g

\Jof Segafivr ~gfr @ f

(c) CLis| — Jerse Rl & gt

(d) &Te b1 — Foqarae &1 gt
A | BT grauE S AEwe gt

T Hifele Fiadl ST BT g 91T 27

(a) TR RN R pe——
TATEROT T TRETOT

(c) 3frTaes Teat BT Ren @ sewr Reard

(d) TrR® wfRar

55. AEY avTe 2023-24 ¥ ATl @ GG

fﬁmvfﬁ,ﬁwm:ﬁfiﬁiﬁhm/@rm
2/8?

(d) Ter==ir T

A & M ae w1 i eye el IR P
AU PIfSI

HF-..
(@ 5 o 151 € 2 (b) Paet 1
(o @l 13 2 (d) Pagr 2

D-1-23) 15310y
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56. -\sftﬁn w1 gA-Il /g ARg ek '-1’1% fag

56.’ g '
Match list-1 with list-l and select the correct
/¢ T TR R g 7 IR ge -

answer using code given below the lists -
List - |
(Theories of Population)

(A) Optimum Population Theory

(B) Social Mal-adjustment Theory

(C) Demographic Transition Theory

(D) Population-Food Supply Relationship Theory
List- 1l
(Propounders of Theories)

(1) Thompson

(2) Malthus

(3) Edwin Kennan

(4) Henry George

Code -

(@ A-(1), B-(2), C-(3), D-(4)

(b) A-(3), B-(4), C-(1), D-(2)’

{©) A-(2), B-(3), C-(4), D-(1)
(d) A-(4), B-(3), C-(1), D-(2)

57. Which one of the following (Tributary — River) is-

not correctly matched?

(@ Manjra — Godavari

(c) Pranhita—
Mahanadi

Consider the following

reference to Uttar Pradesh —

(1) Forests constitute about 12.8% of the total

" geographical area of the state. .

(2) The districts of Jaunpur, Ghazipur and Ballia
have no forest land.

Select the correct answer from the code given

(b) Hemavathi — Kaveri
(d) Malaprabha -
Krishna °

statements  with

below —

Code -

(2) Neither 1 nor 2 (b) Both 1 and 2
(c) Only2 - (d) Only 1

59. Which of the following statements is corf§
about laterite s0il? -

(1) This soil is developed in areas with high

temperature and heavy rainfall.
(2) It is poor in iron oxide and aluminium.

Select the correct answer using the code given

below -

Code -

(a) Only 2

(c) Both1and 2

(b) Neither 1 nor 2
(d) Only 1

[D-1-23] 153101
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(erreear & Ry

(A) SUgFT ST Rigra

(B) rnifTe SRS Rigr

' (c) ST wshavT Rigia

(D) STRiEaT—wer= 3Ry Rrgr

'?g%:;flizﬁuﬁmmﬁ)

(1) e

(@) A41), B-(2), C-(3), D-(4)

Ma), B-(4), C-(1), D-(2) v

W/A-(Z), B-(3), ¢4, D41,
(d)A-(4), B-(3), C-(1), D-(2)

57. ﬁﬁmm(wﬁ—ﬁ)ﬁ
gfera el &7
(a) HoRT — MeEd (b) THTEd — B
(oA — HgFar () AT — T

58, weR ww @ el # Pt Hel W AR

’*jﬁiﬂﬁfﬁ'll 04
I ey v He F FE IR gAY -
9HT —
@adrimda2A b a1 A
2 ( 2
e} A W orevrge Pl @ R A
HAT Tl &7
PN e T ol
N B ¢
€ Ny cllE i wd g o
M g 1y g @ g -
zlz\?'__ :
() dheey 2 (b) 197 & 2
A1 a2 (¢ adt 1

ML

J



60 : . 2 ok )
' ‘ a?mﬂ%mﬁmﬁmeﬁvae‘rﬁﬁmﬁﬁ ?
60. Charak Samhita is divided into how many ) 8
chapters and sections?

(@ soaugly iR 7 e ) ghaeama a8
(@) 80 chapters and (b) 60 chapters and . f A\ &g s
7 sections 8 sections (© . )
(©) 120 chaptersand  (d) 100 chapters and 1203 X 8 we(d) 100347 4R 5 g
8 sections 5 sections 61 ; ; PR
®1. According to Economic Survey 2023 abo‘:: SIS < a1 ol wrdemr 2023 A
services, which statement among the following Pt F ¥ B T TE T 27
not correct? _ ) $
(@) Fashion, grocery and general merchandise (@) BeF, TR ek E;ﬁmiﬂ:r Z%BQ TH
will be captured nearly two-third of the Indian . Wﬁf = dTR & ST forere
e-commerce market by 2030. : at,
() 75 digital banking units announced for (b)is %‘FGEF{ Caloi G ies
transforming financial services. ' AT FY T @ @ T B ‘
() Credit growth to services is above 16% since (©) Sorrg 2022 @ Bfee ey RIS 16% ¥ S
July, 2022, : B |
(@) P.M.1. services witnessed strongest expansion () drgm.aE. JFamaif & 2022 o & WA LN
since July, 2022. ; : 3 [EESIES T |
2. Given below are two statements, one is labelled 5"_‘3- G| P B rad 3§ TP BT Al (A)
issAs:t?rtic;;)(A)Pand icottf?er as Rteaslt?n (R) - X . W BT PR (R) B&T T & —
sertion (A) - Population control is necessary v Nz :
maintain the environment of the e (f“‘ U B iR I T T B
country. : - fere ST friEor amawas 2
Reason (R) - Due_ to the rapid 1'ncrease in PRI (R) - STEET § S qﬁ};zﬁ‘ HROT qafaRoT
population, the environmental . ) _
balance is maintained. ' | 97 Y& & |
Select the correct answer using the code given R T e e SR ﬂﬁ-q -
below — o
Code - R
(2) Both (A) and (R) are true but (R) is not correct (@) () 3R (R) T e § =g (R), (A) 2 R
explanation of (A) ARYT &l BT
(b) (A) is false but (R) is true (b) (A) 7o & ﬁbﬁ (R) 9 2
(©) Both (A) and (R) are true and (R) is correct () (A) 3iR (R) SH1 W # @ik (R), (A) @1 |&
explanation of (A) . P B
(d) (A) is true but (R) is false (A) e 2 ﬁbﬁ (R) Tora &
63.  With reference to the Deakin University, which of  63. Sif3 fizafiemer o < ¥, iR gom)
the following statement/s is/are correct? Y '
1. It will be the first Foreign University to enter Udh WA
India as an independent campus, e v
2. It is being set up in Maharashtra, _
Select the. correct answer using the code given = ’ﬂ’r) ) ’R’Ii i
below - " '
Code - @ -
(@) Only 1 (b) Only 2 (a) gEreT 1 (b) Paet 2
(c) Both 1 and 2 (d) Neither 1 o, 2 el 1 T 2 dFar191 82
___-""N-NL____M
[D-1-23] 153101
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64.

65.

- (a) 2019

B6.

67.

68.

69.

70.

e — — I _— R i
e e ™ S o e L e N T R e SN

Which one of the following pairs (Schedule -

Subjects) is not correctly matched?

(a) Third Schedule - Forms of Oaths g
Affirmations '

(b) Ninth Schedule - Allocation of seats in the
Council of States ’ ‘

(c) Eight Schedule — Languages '

(d) Tenth Schedule -

| disqualification on ground of defection

Provisions as to

In which year, “Mid-day Meal Scheme” was
renamed as “P.M. Poshan Scheme”?

(b) 2020

(c) 2018 (d) 2021

Which of the following is not a biodegradable
polluter? '

(b) Urine

. (d) Pesticide

By which of the following Acts, the ﬁystém of
‘Chamber of Princes’ with 120 members was

(a) Faecal matter

(c) Domestic waste

created?
(@) Act of 1919
(c) Act of 1909

To whom does the credit goes for the
sugarcane

(b) Charter Act of 1853
(d) Act of 1793

development of coconut and

agriculture in Philippines?

(a) Spanishand (b) Hollanders -
Americans _

(c) Britishers (d) French

Who among the following women freedom

fighter was not associated with ‘Quit India

Movement'?

(a) Matangini Hazra

(c) Shanti Ghosh

Which of the following (Port-Country) is not

(b) kanak Lata Barua
(d) Aruna Asaf Ali

correctly matched?
(a) Montevideo — (b) Rotterdam -
Uruguay Netherland

(c) Igarka — China (d) Jakarta — Indonesia

[D-1-23] 153101
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(c) ammSdl STRLH — WY
(d)a'ﬁ'cﬁ ST — <= gReadd & MR W

‘@ d’rqn q‘rmu‘mﬂr H
fopar T1ar?

\ja) 2019 # 020 7

(c) 2018 #
66. _ﬁﬁlﬁrr%lﬁ i | B

(d) 20219 ,
ou el

(a) Het e (b)
(c) ey, e

EAGSINED

¥ ¥ fra aRfEE gw1, 120 wel
¥R sl A B aaven o T3 A7
(b). 1853 HT-ATEX Tae

1909 @7 fRfFRE - (d) 1793 &1 A
68. fchure & =Ruel vd =1 @1 PN AP F
o7 ey ST 27 | |
(a) W Tq (b [ 3l
IMRBIaFAT DI
(¢) femraiRm &1 (0) whisa @l

69. frfaRag § ¥ @ Afte wdsar AFl WRA

() Hird iR — wory (b) fewdH — Heaxave

(d) STTat — SEMRET

R
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. With reference to the SCO Film Festival-2022,
which of the following statement/s is/are
correct?

1. The SCO Film Festival Is being held during
India’s  Presidency of the . Shanghai
Cooperation Organisation.

2. SCO Film Festival will showcase the films from
the SCO countries.

Select the correct answer using the code given

below - -

Code -

(@ Neither 1 nor2

(©) Both1and2

(b) Only 1
(d) Only 2

‘& Onega - Canada (b) Baikal - Russia

(© Maracaibo - (d) Michigan — United
Venezuela State of America

Who has written the book “From Dependence to

Self Reliance”?

2 Y. Venugopal Reddy (b) Raghuram Rajan

S Bimal Jalan (d) C. Rangrajan

Consider the following statements concerning

the powers of the Supreme Court to issue certain

wTits to stop violation of Fundamental Rights —

(1) The Supreme Court has power to issue writs
like Hzbeas Corpus, Mandamus, Prohibition,
Quo Warranto and Certiorari which s
2ppropriate  for the enforcement of
Fundzmental Rights,

(2) Pzrlizment may by law empower any other
court to exercise within jts jurisdiction the
powers given to Supreme Court,

Which of the above

stztement/statements is/are correct?

Select the correct answer from the code given

below ~

Code -

(2) Only 2 (B) Onfy 1

(€) Neither 1 nor 2 9 Both 1 ang 2

75. Which one c?f the foll?wing s not trye about the

total outlay in the Union Budget 20 3.247
(@) Interest payment  (b) State share of taxes

(20%) and dutjes (13%)
(¢) Defence (8%) (9) Subsidies (9%)

il

mentioned

[D-1-23] 153101

RN e MRIRE-2023 @ T A
FriferRae T N A B AT/ wh R
1.vftrrs‘¢rauﬁvrﬁmaﬁama?ramma§

AR A, et T s faay

Gl BT 8 |

- 2. TN et e o gwdtah 2 9y
et fararg sy | -

R M g @ g wve v TR W

T Py —

e —

@aariad2 (b) Baar 1

() <FF 1 7g 2
< Which one of the following (Lake - Country) is not Z i 4 3 B (&frer —éQT) il Afera
correctly matched?® a1

(d) Baer 2
afl';’fm—?b—*fm (b) dPTT — wF
() ARTHTET — (d) el — wgeg
EREC) RISY 3T

3. B RUSH T ¥e% Remiw” qwe & oas

-g-_ 3
CIE] &' (b) IR
(©) fa9ar S (d) ). IR
74. %mwaﬁ%xﬁ%ﬁ%w
W%%ﬁﬁemmﬁaﬁmﬁﬁzﬁmﬁ
qr feg g ¥
(¥ NI BT I8 Uik 95T ® 5 a-
T TelieRT, wERY, sy, afeR —
Waﬁ?mwﬁa,m’r%ﬂqaarmﬁaﬁ
aﬂgaﬂ?‘r%}'ﬁvmﬁmawﬁemm

S BT AIRBR ? 5 98 SFE = a3
/\/E?m B A

tﬂ?’lﬂﬁfﬁﬂﬂﬁ#ﬁﬂﬁ/ﬁwwa‘/ﬁ?
MM de § | W TR P oagy

[3)

(a) dael 2 (b) 1
(Gr= e 17 & 2 1 3R 2 S
75, /@0y auie 2023-24 % s U@ § PR
18 @ s e e 7 |
(@) @ISt ATeT (20%) (D) @Y U9 Yot H WS

WER (18%)
(c) &M =g (8%) \92#@ (9%)

\
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76. Who among the following has been named as the
Prime Minister of New Zealand in January, 20237
(a) Jacinda Ardern (b) Cindy Kiro
(¢) Carmel Sepuloni  (d) Chris Hipkins

77. The aquatic plant commonly used as bio fertilizer
in the water-logged rice field is -
(@ Wolfia (b) Trapa
() Azolla (d) Lemna

78. Which of the following is/are the type/s o
poverty?
(1) Absolute poverty

(2) Relative poverty
(3) Subjective poverty
(4) Functional poverty
Choose the correct answer using the code given
below -

(@) Only3and 4
(©) Only1and 2

(b) Only1,2and 3
(d) Only 1and 4

7S. Which of the followiﬁg elements is not a Noble
gas?
(@) Radon (b) Krypton

(c) Argon (d) Actinium

the Beta cell of Islet of Langerhans of Pancreas? '

@ 74 1

AN S R

70. mm[i:[ltqu N Q) orrad, 2023 % AUS @

e LI wr N gl o 2
A OIRTgr ard (b) [¥ff) faran
() winel VYe h M (d) e fyafa

77, wieher e RRY wree srer enfaer e @ @ |
Qu—wdvw @ Gy N yAvr N arn wren 8, 98
¥ —

(a) feusa (b) grur
gaell (d) ererer

wfRiRaer N A BRI /A Frfrear w1 /@ gBR

@A

(1) qob (over) Feleren

- (2) wmer FefErem
(3) =afreRe e
(4) wartcTn fe
A= RY T Be W 98 SR BT gAY —
3yd4 . (b)dadt 1, 2 T4 3
c) daet 1 3R 2 (d) Bae 1 7T 4
79. ﬁwﬁ-rﬁqﬁ#ﬁ |1 o Aot 19 A8 27

OQb) feres
ﬁ d) gfeefmam

€0. Which of the following hormones is secreted by H q PIFET EEA IR B AT
_,a} ageie @ dieT Aa (@IRER) g’ enfaa

(b) Adrenalin
(d) Glucagan

(2) Aldosterone

(©) Insulin

€1. Which Indian origin businessman has been
elected 2s Mayor of London Borough of
Southwark for the second time?
(2) Gautam Adani (b) Sam Dalton
(¢) Sunil Chopra (d) Neeraj Patil

82. Consider the reign of following Peshwas and
arrange them in chronological order -
(1) Balaji Viswanath
(11) Bajirao |
(111) Narayan Rao
(IV) Madhav Rao |
Select the correct answer using the code given
below -
Code -
@ 1,1, 1v, 1
©) 1, 1,1, 1v

(b) 1, 1,1V, 11
@1, u,m, v

[D-1-23] 153101
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(a) Tier arer o) A SreeA
() 3T A (@) et wifee

82. WWW&ﬁG}WWWﬁﬂRW
AT I HICHEHAMNR e HMT —
(1) arenslt Rygasmer '

(1) iR
(1) FTRRyYT 1

(IV) ¥iere v

G| ﬁ-{q*qqz e gﬁq_

o u/
@n,1,1v, 1y ) 1, 10,1V, 10t
© 1m0, v (d) 1,1, 1, v
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83.  Which of the following (Poetess — Compositions)
is not correctly matched?

(a) Sahajobai—Sahaj  (b) Son Kumari—Poem
Prakash of Swarn Beli
9 Daya Bai - Vinay (d) Gangabai — Ganesh
Malika Dev Leela
84. Consider the following statements about

sustaimable development —

(1) Based on the global indicator framework and
data produced by National
Systems and information - collected at
regional level, the United Nations Secretary

General presents an Annual Sustainable

elopment Goal Report.

(2) Global Sustainable Development Report is
prﬁu@)uced to  inform the quadrennial
sustainable ~ development goal . review
deliberations at the U.N. General Assembly
once every quarter.

Select the correct answer using the code given

below —

Code - -

(a) oE?{; 2 (b) Neither 1 nor 2"

(c) Both land2 (d) Only1

85. With ¢Bference to the invaders in ancient India,
which” one of the following is the corre
chronological order?

(2) Sakas — Greeks — Kushans

(b) Greeks — Sakas — Kushans

(c) Sakas —Kushans — Greeks

(d) Grekeks — Kushans — Sakas

86. Match-Jist-l with list-Il and choose the correct
answérusing the code given below the [ists —

List—1 List - 1|
(Archaeological site)  (Present location)
(A) Nevasa (1) Rajasthan

(2) Tamil Nady
(3) Maharashtra
(4) Karnataka

(B) Isampur

(C) Didwana

(D) Gudiyam cave
Code -

(a) A—(B}, B'(z): C'(4): D'(l)
(b) A-(4), B-(3), C-(1), D-(2)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(3), B-(4), C-(2), D-(1)

[D-1-23] 153101
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B Prefes § ¥ o9 (@aRE — gm)aﬁ
Ffer 8 7
(@) wEars — wew  (b) WF FARY — o
ThTIT Joit BT PHfaar
- (©) gamarE - foeg (d) TETg — O 3g
HforepT GG '

o e frra @ v # Preferfe @Rl w

Raré & fammEr wgaa
Wwﬁﬂgﬁﬁmwﬂuﬁm
ce & ARl 37 gRIaeeT 2 W @I

gl

‘rﬁﬁﬁfﬂfﬂqmmmaﬂﬁ‘»'ﬁé’reﬁ?ﬁ

(b) T 19T &) 2
\(})}ﬂ;ﬁlﬁl

85.

86. . zﬁﬁ—laﬁﬁa—uﬁﬁﬁ%ﬂaﬁmm:ﬁaﬁq
Y gHE ¥ e SR g —

- -1
(qRranicas (T i)
(B) ST (2) aferrg
(C) Srear (3) eI
(D) TREAH T (4) Trtes
az?‘ o

jg/-(ai, B-(2), C-(4), D-(1)
A-(4), B-(3), C-(1), D-(2)
(C) A'(a): B“(‘”, C'(l)! D'(z)
(d) A-(3), B-(4), C-(2), D-(1)

LT,




87.

Which of the following is known as "World

Wetlands Day”?
(a) 1 February
(¢) 10 January

(b) 2 February
(d) 15 January

88. Which of the fbﬂowing Scheme/Programme js- 88. famferflad LA

)zm‘?r
(d) 15 STy |
AT RIH P GRBR

not the Central Government Programme and it jg> &1 PHIIHA 6 B g IR TSI WRBR DI
Uttar Pradesh Government’s Programme? .,u?.‘ Qo 87

(a) Ganga Expressway (b) MGNREGA ' ' (b) F=TT X

(c) Pt. Nehru Utkarsh  (d) Gramin Swasthya (d) FTIoT YaTR AT

Mission Mission

89. Human heart is made up of how many chambers?

(b) Only two.

(a) Only three o
(d) Only four

(c) Only one

80. Which one of the fo!lomng (Passes - States/U.T

is correctly matched? "

(c TH ;
E\Wé::;ﬂﬁ '
= iR e e gafera &7 -

gey fhan g (aea)) &1 91 grar 87
@daad . (b) Fad

) DIA =R :
# 9P A UG (S — I/

(@) Mana — Himachal =~ (b) Aghil — Arunachal ';Q (_a) T~ %’Hﬁﬁf g9 (b) 3iferer — srvurEe
Pradesh : Pradesh o ' gagl
(¢) Niti— Uttarakhand (d) Diphu —Ladakh — SWRIEs  (d) i — dAgara
©1. The Indian Biological Data Centre is being set up Sfaw Ser ox fw wsg # wifua &

in which state?
(@) Punjab
(¢) Gujarat

. (b) Haryana
(d) Uttar Pradesh

82. Match list-1 with list-ll and select the corr"qu 92.

-ﬁ-
q_.
«—

ST YT 87

(@) g W
SR e

-l BT PRI | gAfera SHINTg a= gREE &

answer using the code given below the lists— 'O ?ﬁ%r R T B I 98 SR T T899 Hﬂﬁﬂ -
List - 1 -l
(Sustainable Development Goal) (gaa e )
(A) SDG - 10 ' 2 (A) TS - 10 @ %
(B) SDG - 13 <e N (B) TH.ELS. - 13
(C)SDG - 14 < (C) T3
(D) SDG - 15 . - (D) T2,
List - 11 D A1 Lo
(Related With) X (g
(1) Climate Action (1) wierary fowar '
(2) Life on Land (2) 9 T Sfaq e Q
(3) Reduced inequalities (3) 3rT9TTETR ) \o 4—-
(4) Life below water (4) gy & =1 37 \—,ﬂ-ﬁf
Code - ThE -
(@) A-(2), B~(3), C-(1), D-(4) (8) A-(2), B-(3), C-(1), D-(4)A
(b) A-(3), B-(1), C-(4), D-(2) Ma), B-(1), C-(4), D-(2) ¢
() A-(3), B-(2), C-(4), D-(1) \(SVA-(3), B-(2), C-(4), D-(1)
(d) A-(1), B-(2), C-(3), D-(4) (@ A-(1), B-(2), c-(3), D-(4) "
[D-1-23] 153101 Page 17 of 32
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P AT,
Toer & Prefaad W)l # | ;
desh is &
93. Which of the following cities of Uttar P'; of 200 \/;é;ﬂ 21 aeaE B GRF G-20% 200 FA A _

114w B R e B W e T S
(a) gRTOTH

not included as the venue for 11 meetin
sessions of G-20 during India’s Presidency 0
grouping?
(a) Varanasi
(€) Kanpur

f the

(b) Agra
(d) Greater Noida

(b) SATIRT i ".
(d) Fex AgST

g j
. ' qd
the 94 H ¥ fhg W W AAdT<l
94t Which one of the following place .is the\/‘%—ﬁ;‘g}ﬁﬁaﬁ%‘?

confluence of the river Alakhnanda and
Bhagirathi? _
(@) Dev Prayag " (b) Karn Prayag -
(©) Rudra Prayag (d) vishnu Prayag
5. Match list-l with list-ll and select the corr
answer using the code given below the lists :
List - |
(A) Article — 324
(B) Article — 315
(C) Article — 280
(D) Article — 338
List - 11 )
(1) National Commission for Schedule Castés
(2) Finance Commission
(3) Public Service Commission
(4) Election Commission
Code -
(@ A-(1), B-(3), C-(4), D-(2)
(®) A-(3), B-(2), C-(4), D-(1)
(©) A-(3), B-(2), C-(1), D-(4)
(d) A-(8), B-(3), C-(2), D-(1)

b) &ol wamT
__(d)ﬁregmm
1 B 11 ¥ e T o R B

A 3T 7T e | 98 SR @ g —

A — |

(B)3rgEE — 315

(C) erfesT — 280 A~

(D) g — 338\
& -

(1) TS SR Ry ST

(2) fo7 aman

(3) A JaT AT

(4) Fratem smamT

T — |

(a) A-(1), B~(3), C-(4), D- (2)

(0) A-(3), B-(2), C-(4), D-(1)
_A-(3), B-(2), C-(1), D-(4)

)
Yefk (4), B-(3), C-(2), D-(1)
96. il

9. Make the pairs of chief rivers of their place of “‘1@ et @ 3w e ST Rl & SIS
origin —
Rivers Place of origin ?Tﬁ'iﬁ ST we
(A) Yamuna (1) Sihawa (A) T (1) Rygmar
(B) Krishna (2) Nasik (B) o ) ARy
(C) Godavari (3) Mahabaleshwar (C) TETaRY  HETIgER
(D) Mahanadi (4) Yamunotri (D) HETE! (4) T

(@) A-(4), B-(2), C-(3),D-(1)
(b) A- -(4), B-(2), C-(1), D-(3)
(c) A-(1), B-(2), C-(3), D- -(4)
(d) A-(4), B-(3), C-(2), D-(1)
97. The river situated along the border
 United States of America and Mexic
(a) The Colorado (b)
(¢) The Amazon

between the-
o

The MISSISSIpp|
(d) The Rig Grande

[D-1-23] 153101

() A-(4), B-(2), C-(3), D-(1) -
(b) A-(4), B-(2), C-(1), D-(3)
(©) A1), B-(2), C-(3), D-(4)
-(4), B-(3); ¢-(2), D-(1)

Y T SR TR ARy

Rer 7Y & — e v
() FreReY (b)

(©) s ( T
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98. shi N | ' P
?hlvanasamudra and Kalpakkam are respectively ~98. % 7d e s R forg et
important for - B?

(@) Thermal Power and (b) Hydel Power and () Trg Fell 74 Wﬁﬂ wd
Nuclear Energy Nuclear Energy i ot M ol
() Nuclear Energy'and (d) Solar Powerand (c) = ot vd (d) ¥R wfda g
Hydel Power Nuclear Energy EICE] ATy ot

99. In February, 2023 India’s biggest helicopter 99. GRa<), 2023 ¥ AR ® I 93 Therex o

manufacturing plant was inaugurated in which it
‘ 25 BT ST Raa # & 5 o
one of the following places?

(@) Tumkuru, Karnataka (b) Chakeri, Uttar gor orr?
Pradesh (a) gHIR, B, TR TSI
() Coi i ‘ :
N‘:‘;’:lb?mfe' Tamil  (d) Nasik, Maha"f‘\fhtra. (c) Frgacy, aferrg  (d) RIS, TS

100. Which of the following is known as laughing gas? 100 Preafofa & @ 59 &0 Y91 & 9ol T B
wq H ST AT 8?

(@) Chlorofluro Carbon (b) Ammonia - @) 1T BT (b) AT By
(c) Nitrous Oxide (d) Carbon Monoxide TEE it = (4 gﬁh ML e
101. With reference to the representation of Uttar 1018w & SR W¥l & yfaffeee & wHed o,

" Pradesh in Parliament, which of the following f=faRed woal § & 9T 981 2 /87

statement/s is/are correct? \ ]ﬁ T 3 T e R BT 31 ¥ A
~ (1) Uttar Pradesh has 31 seats allotted for Rajya

Sabha. gl
(2) 80 members of Lok Sabha are elected from . \M‘dﬂ‘\‘l‘ﬂ $ 80 WewW SR Weu ¥ fAaifa
Uttar Pradesh. : _ B T

Select the correct answer using the-code given g Rt T B F T IR gﬁq _

below — e !

Code - ' ' L Gl

(a) Both 1and 2 (b) Only 1 \)3')/ 1R 2 (b) Baat 1

(c) Only 2 (d) Neither 1 nor 2 ro 2 @adriaa2
e e # A GERE B AREHE & w1

development, ~ which of the following A, PrafoRaa weml § § B9 /9 ' 2/

statement/s is/are correct? |
1. Effects of economic development on \_)Kﬁﬂ'cﬁ faepre o1 e iy W e |

population growth. \_/Z/Gﬁﬂ@'[ qﬁ‘&' w7 anfeles ™ W™ wHa |

2. Effects of population growth in economic _
E M A T ge B amR W A& SR BT W
development,

102. Role of Human Resources in Economic

Select the correct answer using the code given IR —
" below - e -
Code - i
(a) Only 1 (b) Only 2 % ;'ﬁ;r 1 (o) 1 2
(c) Neither 1 nor 2 (d) Both 1 and 2 19T 8 2\ ggy% 1 3R 2

e
. f32
23] 15310 gl AR

e e et A 2 TR et 2 e ]



T T L

\ |
5 sustalnable  108. ﬁé«ﬁgﬁ H A B A1 wad e B den w9

103. Which of the following Is not
e jof" the d by \N\%, Rt 2030 0 9Tl v T A6 T T 27

eve
development goal targeted to be achi

20307 (a) 3 @ | (b) <ifirem FwTen
(8) Zero Hunger (b) Gender Equality ' (C) IrTBT WRe Y afaRer e
(¢) Good healthand  (d) Space Researf:h EIE] :
well being ' 4.
104. Hangul-deer is found in which part of India? ; gm @ f FIg et T
(8) In Rajasthan (b) In Kerala I .
() InJammu and (d) In Assam (@) RTorRer . (©) aer ﬁ
Kashmir W AR PR A (d) 3w &
105. First National Centre for Marine Biodiversity _105' HRA BT YH Hex BR AT arSrIaRic)
(NCMB) of India is situated at - ’ ALKIY) g - :
(&) Puducherry (b) Jamnagar A \ (b) TR #
() Mumbai (d) Bhavnagar \ il (d) TR H
106. With reference to the post's in Secretariate of the ~ 106. % dftarea § gef & wedf # = A 9
Parliament, which of the following statement/s BT /W BT TE & /¥
i(i/)arz correct? . e If Pl \M«q T YAF Wed & wfyarerd @ forg
ommon posts may be created for : PSRN
Secretariate of each House of Parliament. @ aal I qﬁlﬁ fepan < el |
(2) The Parliament has right to regulate the \_(}Vﬁ_‘*' aﬁ It fadft ff weT & aferarerd
service conditions of Secretariate staff of % P |ar Il o fAfafdd e @
either House of it. ' : alﬁfﬁh‘l? BT B | |
Select the correct answer from the code given ' :
E— ) ;ﬂ%ﬁvwaﬁ’ﬁﬂﬁrwzﬁrlwﬁm—
Code - : T - | -
(2) Only 2 (b) Neither 1 nor 2 (a) Pt 2 - O FA 2
(c) Only 1 (d) Both 1 and 2 () 1 | \(}”/ ST 17T 2.
107. with reference to India’s G-20 Logo, which of the . 107 B G-20 Wi e & v ¥, frefrfaa
following statement/s is/are correct? FIA H | B A1/ T 2 /87
1. The logo has lotus with seven petals, 1. 7o g A 9 q?g%ﬁam A B
2. The seven petals of the logo represent sever; 2.7 e @) ad ugfedt am AEE @
continents, yfafafee awdl £ '
Select the correct answer using the code given I A 6T Pl YA B & SR G 9
below - Py —
Code - _ He —
(@) Neither1nor2 () Both1ang @ = 177 & 2 \m/aﬁ‘fl w2
(c) Only 2 @ Only 1 (c) dae 2 (d) et 1
108. Who was ‘Khareetadar’? 108. ‘@R’ @ o
(2) An officer whowas () Despatcher of rgye (@) arftreTd) wt (b) AT Y T
trained in keeping decrees feara—frae o ATl AT
accounts L) Bsﬁﬂ o
(¢) Main custodian of (4 Chief officq, of (¢) ¥mEYEer @1 W (d) RO @ g
royal palace Pargana - ST
[D-1-23] 153101 T
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109. Who among the following translated 300 109, freifeiR A W R e @ ATENE

volumes of Sanskrit books collected by Firoz sty @ @RET wiufier 300 i qearmt @
Tuglaq during the campaign of Nagarkot? S faparr?
i b dul Baql '
(a) Azizuddin Khan (b) Mulla Ab u Baq (@) arYgdt @ R p———
(¢) Mirza Muhammad  (d) Talib Amull
o) gt mewTe el (d) anfera aped

Ali :
110. Bjological Oxygen Demand (BOD) is a standard %Wﬁﬁ'ﬁrm sifalior fEaie (@an) faas
f1T TP WEH AFES 87

criteria for - . ' .
(a) e i SifRAST @ wR @ Sifa @ feg A
(a) Measuring O: level in blood Mﬁ( S TRReRIE T 3 &1 S 5 Rre
(b) Pollution assay in aquatic ecosystems (c) Tz ward gl el ¥ siferfo o irE B
(c) Assaying Oz level in high altitude regions ferg
- (d) g7 aRRefE @5 ¥ sifefo & wR @
(d) Computing Oz level in forest ecosystems ) & R
111. with reference to Union Finance Commission, A T omdrr & wad # fFrefolea & 9
which of the following statement/s is/are PR /W FAF el 2 /87
correct? | ‘ (1) forT QMriTT # Ve e TN e Bt #1095
(1) Finance Commission has a Chairman and six (Z)T IO SREs R e @ &
members. . g

(2) It submits its report to the NITI Aayog.
Select ‘the correct answer using the code given

W R 70 He A ¥ G SR BT AL

below — wTY

Code - ®e - '

(a) Only 2 (b) Neither 1 nor 2 (a) Hael 2 \/&ﬁ 17T & 2

(¢) Both 1 and 2 (d) Only 1 (€) 1Tg.2 Qf (d) @adt 1

112. What was the name of the female Regiment _'12 I QI T 4 g AR R Bie @

constituted as a part of the Azad Hihd Fauj by ~ RR @ Wy A ITT%’(T afeen NPT T w® AH

Netaji Subhash Chandra Bose?

(a) Rani Jhansi (b) Veerangana .
Regiment Regiment \W aried) i’ﬁfﬁf (b) ARITT tff‘ir‘rﬁt'

- (c) Bharat Mata (d) Rani Bhabani (c) 2T Sl i’f"Tﬁ‘d () = s XRme

Regiment Regiment

113. 1

113. By which year the target of population stability a N orRien el @ ey e ad s

has been fixed in India?

frrerife fovar 2 {7 ;
(a) Year 2080 (b) Year 2070 . ‘-(::y' 2080 T M 2070 <&
aq

(c) Year 2045 (d) Year 2075 2045 g (d) q¢ 2075 @

-1 153101 ZIEEE IR




e N S T AN AR A e =, i AP i S AT e T L o

114, , 3R
114. Given below are two statements, one is Iﬂbe"ed _\/\é QP & R qeh @Y JIAHA _(A)

as Assertion (A) and other s Reasof‘t(f;;ams dry - QUYL HY BRYT (R) el AT B —

Assertion (A) — The Tamil Nadu coas N
during South-West monsoon (A) — R-ufRem A ANE @
g ¢ is situated SRT afiverTg € g B & |
Reason (R) — The Tamil' Nadu coas s . ’
( parallel to the Bay of Bengal branch TR (R) — IR T dTTTel BT TSl @
of South-West monsoon ezndD;t Iti:: & iR Rera & ofR afo-afas
in the rain shadow ar _ 5
 Arabian Sea branch of the South- AR @Y 3RG AFR T &l
West monsoon during monsoon o T
season.
Select the correct answer using the code 8'“?" . RIERHEI he W e SR ﬂ'ﬁ"’{ -
below - o —
Code - ’

(@) (pywea & faeg (R) ToId @

(b¥(a) 3R (R) T W £ 3R (R), (A) BT G
| T BT B '

() (A) 3R (R) 2T T €, afes (R), (A) BT HEl
. T T B &

() (A)is true but (R) is false |

(®) Both (A) and (R) are true and (R) is correct
explanation of (A) $

(c) Both (A) and (R) is true but (R) is not correct .
explanation of (A)

(d) (A)is false but (R) is true - (d) (AyTera. @ fbg (R) T &
“115. Which of the following statement is correct? 115. FT H ¥ BF T 'ﬂff 7?7 '
(1) Ram Ganga river joins the Ganga at Kannauj. ) T’; T A FS B U T AR A e
I

(2) River Betwa joins the Yamuna near Prayagraj.
Select the correct answer using the code given

(2) JTaT 7L TR & U IAT Ay H A
2

| 4
- e Ry 7 e | wE SR gAY -
Code - . ; &He — )
(2) Only 2 (b) Both 1 and 2 ) 2 (b) [ 1dem 2
(c) Neither 1 nor 2 (d) Only 1 Fa 1T B 2 DIl 1

116. pAs per Social Progress Index, released in_
December, 2022, which of the following are on

IgER fem-1 #, Fr=fafem 3 & o aft s=

top three positions in very high social progress in : :

Tiarq? . wrfr # o O R w #

(2) Pondicherry, (b) Mizoram, Himachal (9 wifear, TeTEIw MR (b) P, fwtreret
Lakshadweep and Pradesh and Ladakh Tirar T AR e
Goa

¢) @xel, Aeivs 3R (d) Iwfer ¥

(c) Kerala, Nagaland  (d) None of the - (c) j C (d) I® iy IS

and Meghalaya Bl
117. The “Agenda ~ 21" of Rio Summit, 1992 js refated /Ran Rer w9er, 1992 61 “Toie-21" w4t
to - 3 -

(a) preservationof  (b) Sustainable (@) 3N Rel D W e
ozone layer development R8T -

(c) polluter — Pays () Environmental (€) weu® — YTE (d) vafeRer R
principle education Rrgia

1231 153101 Tammef3? |
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118. Trophic levels are formed by - 118, (ﬁmﬁ TR gy &~

(a) Plants only (1) Carnivorous animals (a) @aer el A (b) wHerer MBS
only Sfeggelf 4
Mganisms linked in (d) Animals only \,(z)@i{l sfeaalr 4 st (d) @aer gt 4
food chain : @ Afag B9 A

118. On which of the following, proved charges the 119.

Finance Minister Nadhim Zahawi was sacked

wfeiRaa o @, by Rrg a9 @ smr w
wRaq), 2023 @ ey gl =@ g g

from the Government in February, 2023 by the Sl YR A FRTE e SrErd w1 wer faan
British P.M. Rishi Sunak? V"j"/
qAveed &t b) g Thvse

(2) Disdosure of Secrecy(b) Sex Scandal . : ()

: Mo 17 B

of the Cabinet '

. b BRI

(©) Tax Scandal (d) None of the above

120. Chandraprabha Wildlife Sanctuary is situated /
which district of Uttar Pradesh?
(2) Chandauli (b) Baharaich
(¢) Sonbhadra (d) Lakhimpur Khiri

[\

0

Terrestrial zanimals  (J) Fossorial animals (c) &

(d) ST # & g 7E

127. Desert dwelling animals are called - 121. v ﬁ f Wﬁ E“ -
(z) Arboreal znimals  (b) Xericoles animals (@) EJHET??T

(d) e =19 91 WTHER

122 yith reference to the Attorney General of India, 122 D nammarcﬁ B A ¥, fFr=faaa sl

which of the following statement/s is/are ¥ Y P AT/ T /8
correct? (1) FETRETY @ TR R R wfk @ Pl

(1) £ person is zppointed as Attorney General,
who ic guzlified to be appointed as a Judge of

E\"'I"ﬁ, Sl foR STaad  |ImIerd @1
e @M @ ferg aifda 1|

the Supreme Court.

(2) The Attorney General can be removed (2) MERIREIEY @Y 9@ ue A Sl uibar |
through the same process as the Judges of the BRI Ol Wahdl & ol fF Seaaw e &
Supreme Court, el @ |

h rrect answer from the code given -
e faee ’ " M4 Ry g ae A wdl oeR BT AT BIAY —
below —
S
Code - 7 |
(2) Both 1 and 2 (b) Only 2 (@) <1 1 e 2 (b) gEet 2
©) A e 191 & 2 Hael 1

(¢) Neither 1 nor 2 (d) Only 1

—
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123. Given below are two statements, ON€ is |
as Assertion (A) and other as Reason (R): &5t
Assertion (A) -12 Cheetahs arrived from -
Africa to India in February, 20 Iis
Reason (R) - Restoring Cheetah DOP”|atlon,
considered to be a priority for Idies
Select the correct answer using the code given
below - '
Code -
(@) Both (A) and (R) are true but (R) is not correct
explanation of (A)
(®) Both (A) and (R) are true and (R) is correct
explanation of (A)
(€) (A)is false but (R) is true
(d) (A)is true but (R) is false
Where was the “Sudarshan Prahar Army
Exercise” carried out in December, 20227
(2) Rajasthan (b) Gujarat
(€) Uttar Pradesh (d) Madhya Pradesh

124.

125

(@) Control of predators (b) Destruction of

natural habitat

(c) Pest control (d) Genetic assimilation

128.

as Assertion (A) and other as Reason (R) -
Assertion (A) — The President can recommend to
the Parliament to change the
boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period,
Reason (R) —Itis not mandatory for the President
to accept the proposal of the
concerned State Legislature,
Select the correct answer using the code given
below -
(a) Both (A) and (R) are true and (R) is
explanation of (A)
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)
(©) (A)is false but (R) is true
~ (d) (A) is true but (R) is false

correct

[D-1-23] 153101
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Given below are two statements, one is labelled /
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123. 99 @) o & R & ua B G (4)
3R GER B BROT (R) FET TAT € |
ARG (A) - ), 2023 3 12 <l B <fem
| afhepT A WRa AT AT |
FR (R) - Al A SMardy BT GERAT ARG B

. iR 2 |

Lgé A A T e A W S BT B

= e '

"\ A aIR (R) I E R (R), (A) @Y | e
(b) (A) @R (R) BT W@ & @R (R), (A) BT W
' HICAT B

VA e @ g (R E ©

=0 () w=a & g (R) Terd &

NGEIE] (b) oI

(c
- Which of the following factor is the most\ﬁzfﬁﬂgﬁqﬁ A H A dRE Aa—fafdear &
important factor for the lost of biodiversity? & TN @ fog waifers 87

T (d) 71 g2w
=t {a)q'\’iaﬁ{zﬁu*\fﬁaa::' Ewﬁmwm
- | famer
B (© ®e Frizwr (d) ST
X STTHTDHRIT

TR B BRI (R T E —
o I (A)A 5 T A G qwem B
3 ReiRer rgufy dae @ dar @
o AN zwa fow oy <eia
s T & urmssa gr1 S™
T R R e @ el
MR W & § )
BRI (R) = B I T e @
WRRTT AT Sifyamt w1} @)
A B e 9 N W oW @ gf -
M (R) T w1 & &R (R), (A) B W&

BT §
(A)3MR (R) i1 W & R (R), (A) @Y @)
QR ] FHRam @

(©) (A) Treret & fveg (R) &

(d) (A) e & fhg (R) TTore @

I||!lIIIIIIIIIHIJIllllllﬂllllllllllllll
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127. Fonsider the following events and arrange these  127. HeRit W faaR A don 5= w8
in correct chronological order starting from the FHTATGHA § TARAT BINY, Tad ugadt ’@f AP
earliest to the last activity — “ : ey wifafafer @& —

(1) Appointment of the Drafting Committee ' ' (1) IReT afafa @ ﬁ'{lﬁﬁ
(1) Indian Constitution was adopted and enacted () i e B sifiga ok sfRfafa
(1) Date of commencement of Indian R b NXN\ ﬁ%

Constitution
(IV) Constitution Assembly first met
Select the correct answer from the code given

(||1)nwﬁuﬂﬁm$ma=‘fa%ﬁr@w 4
() wRuT @ v dow @ 4P DT

below — < WWWW@T@WWWW_
Code - <t o —

L T

o

@ m,u,1,1v (b) v, 1, 1, 1 (@, v ®) v, 1,1, 11
(©) v, 1, 1, 1 (d) 1,11, Iv, 1 L6 v, 1,11, 10 @ 1,1, 1v,

128. on 25th December 2022, which of the followmg 128. 25 fagrR, 2022 ®} fA=faRag & & fvg <o

countries extended mandatory Military Services ' ;

for one year to those males who were born after R GIH?I'?T T T IR % fe
01 January, 2005? - g, g5 1 _ & me?

(@) Myanmar (b) Taiwan < =R

(©) Srilanka - (d) Afghanistan E (c) HAreianT o (d) Wﬁ'ﬁﬁo[

129. Given below are two statements, one is Iabe@ . 129. 7y <1 v ¥, AR ¥ a3 A (A)
as Assertion (A) and other as Reason (R)— " 3R TER BT R (R) HET T 2 \/

Assertion (A) — The President is a part of the SRH (A) — e 1
- Parliament. _ . ,
Reason (R) — A bill passed by the two Houses of ‘ AR (R) — LRSI USAEEE I_
the Parliament cannot become:a | ' - WEAlT & fae1 S e
law without the assent of iﬁe ; 99 Hohdl T | ,
President. 2 4 Ry MU g B ST IR T SR

Select the correct answer using the code gi\.'ign-

below - \?”“II_
(2) Both (A) and (R) are true but (R) is not correct (A) 3R (R) EFIT F g, W (R), (A) BT &

explanation of (A) ' qrat :’ﬁ R §
(b) (A) is true but (R) is false (b) (A) W & foreg (R) IOl &
(c) (A)is false but (R) is true = () (A) et & g (R) O ®

(d) Both (A) and (R) are true and (R) is correct @ (A)3iR (R) BT W & AR (R), (A) B Wl
explanation of (A) Ve TG HRel B o
130. with reference to the Captain Hawking's, which 130. de gifemg @ dew #, fr=faRad EREIR

Q

of the following statements is correct? I AT L P

(1) He came to India in 1611 as an envoy of @ (1) a8 1611 H | & g0 @ W § aRd
James -1, ST |

(2) He was very well versed in Turkish language. (2) & BT W ST 2T

(@) Both 1 and 2 (b) Only 2 I 132 2 (b) Dl 2

(c) Only 1 ' (d) Neither 1 nor 2 Ml (d) =7 @ L € 2
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131. with reference to the composition

132.

133.

124.

e e R e I T fwmﬁ“zbﬂ!;‘.ﬁs&f;@—t;{"ﬂ— R =

of the 131, wRq & T xrow # R ARYS & T T Hed
h of the ﬁ'ﬁgﬁq}aﬁqw/?{ HUT T8 B /87

s R TRTE F 99 I5d B fAuTTerT )

@amﬂ@rfﬁ@ﬁﬁlﬁ@mm

Legislative Council in a state of India, whic

following statement/s is/are correct?

(1) In the Legislative Council there may n
more than one-third members of the total

ot be

membership of the Legislative Assembly of & B TFH © |
that state. ' s (z)wmaﬁﬁﬁﬁqﬁqﬁﬁfﬁqﬂmm
(2) The Legislative Count.:il ?f a state must hav A S .
least forty members in it. .
Select the correct answer from the code given Ry T @ | &l 9TR BT AT _W -
below - ' T — '
Code - : .
() Both 1and 2 (b) Neither1nor2 (a) 171 2 \/”/’T o 17 & 2
(©) Only2 (d) Only.1 (©) 2 Had 1
Who composed the Golden Globe Award winning x. 132¢7fee Teitd qR¥R  farsrar R s A | A | A
song “Naatu Naatu”? t IR & —
(@) s.S. Rajamouli (b) Devi Sri Prasad (@) T.QXTATH Il (b) 24 =i g
(c) A.R. Rehman (d) M.M. Keeravani o (c) TR, IHH \}H/ TH.QHBRIGA
Which of the following scheme/s is/are related to -~ 133. fr=iferRaa & & @19 & doe/d SR ue¥ 4
Uttar Pradesh? ’ Tefda & /87 '
(1) Anuthee Uphar Scheme ' | (1) GFfoPr s
(2) Matra Shakti Udyamita Scheme _ 2) m SErfren SrerET

(3) Kaushalya Matritva Scheme

(4) Stree Nidhi Scheme (3) YT AT AT

Select the correct answer using the code given (4) =i ffer At

below — - ﬁﬁHWE@ﬁﬂﬁwgﬁq_

Code - | owe —

(@) 2,3 and 4 (b) Both 2 and 3 (@2 334 (b) BT 2 3R 3

(c) Only 1 (d) Only 2 ; (c) waad 1 , (d) Daer 2

With reference to the joint sitting of Parliament, 134 H¥T & WY J5b & ﬂ?{'ﬁ ¥, Fr=fofRag ool

which statement/s is/are correct? AW B/ B R R /R _

(1) Article 109 provides for the joint sitting of v&\l) ITHT T SR N WA B 3‘Fﬁ | B
both Houskes in cer:jain c::ses, YT VS T A B 2

2) The Speaker presides the joint sitti y : , '

[ )two Houses of Parliament, | Finget the \(}{?a;ﬁm? B WYFT ISH B e Wi

¢

elect the correct answer using t

f,e.ow- e 1 Ry e e N W e g -

Code - - '

(a) Only 1 (b) Both 1 ang 2 (a) eer 1 (b) BT 1 qorr 2

(c) Neither 1 nor 2 (d) Only 2 ©@aar1 &2 BT 2

P A LT



135.

136.

137.

138.

139.

With reference to the recommendations of the
Ashok Mehta Committee (1977) on Panchayati
Raj, which of the following statement/s is/are
correct?

(1) The three tier system of Panchayati Raj should
be replaced by the two tier system.

(2) A block should be the first point for
decentralization under popular supervision
below the state level.

Select the correct answer using the code given

below -

Code -

(a) Only 1 (b) Both 1 and 2
(c) Only 2 (d) Neither 1 nor 2

Eastern boundary of the Harappa culture is

indicated by which of the following? :

(8) Manda (b) Alamgirpur

(c) Rakhigarhi (d) Harappa

What is the theme of the International Day for

the Eradication of Poverty for 2022-23?

(a) “Dignity for all in practice.”

(b) “Accelerating global actions for a world
without poverty.”

(c) “Coming together to end poverty and
discrimination.” g

(d) “Acting together to empower children, their
families and communities to end poverty.”

Which type of vaccine protect against
Diphtheria? .

(@) Toxoid (b) Live-attenuated

(¢) mRNA (d) Viral Vector

With reference to the E.V. Ramaswami Nayakar,

which of the, following statement/s is/are

correct?

(1) He participated in the Non — Cooperation
Movement.

(2) He left the congress in 1925,

Select the correct answer using the code given |

below -

Code -

(@) Neither 1 nor 2 (b) Only 2
(¢) Both 1 and 2 (d) only1

135. ¢

£
A

136.

137.

138.

139.

() Tl

& gBR B St |

4y <ror TR el AEaT wiRfy ufvae (1977)
gﬂ@ﬁwﬁ?ﬁiﬁﬁﬂﬁﬁ,ﬁ'ﬁﬁf@ﬂiﬁﬂ
3 gy @ wE 8/
G I @ A /R ERe @ R W)
freerrg egaven B ARy |
(2) U R B A WREEV 8 @ @
frd=dia=or &1 M fdg 7 S ke |
A9 2y U HE W FE SR BT 999 PIfAY —

(b) &Y 19T 2
(©) 2 (daar1ard2
¥ q P TSW WHA B gd G

foerRor var 87
JMATTRYY

(a) ATUST
(d) gemr
2022-23 @ forg N S=EE & fog IR

feaq &1 fava @ 87

U»/%T

¥ oy & forg wRar|”
& Raw wEt F TN

()’ nﬁa‘i’taﬁ?
CICIN

(d) TR T B B v =, S URARI
3R WM B wuEd M B 1Y T 9w
BTH BT |

1 5 & fog oo ar

R T 27
(a) Srpergs | ) SS9 Iefacs
(d) TSRt daex

A ITRA e @ weod §, friiiaa s
T W B/ w8

(1) S arqeirT ararer & faeem fomm|
(2) S 1925 ¥ wik BIs @)

T Ry v oae o o e W S
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| 140, _
140. Match list-1 with list-ll and select the correct -1 BT G-I AT PR oy et &
atc

answer using the code given below. = 9 Y T ¥ W S ﬁi:;r '
" List- iy — 11
. (Countries) CED) (3w .
(I\J"It.)unta'un) 1) Morocco (A) fhelHoRY (1) WREy
(A) Kilimanjar e (B)E‘s{ﬁﬁ{ / @)
(B) Toubkal (2) Alg 4 | a'ﬁiliiqr
(C) Stanley (3) Tanzania (C) (3) ot
(D) Hoggar ) Uganda _ (D) (4) gt
Code - 6we
(a) A-(4), B~(2), C-(3), D-(1) . ) A-(4), B-(2), C-(3), D-(1)
(b) A-(3), B-(4), C-(1), D-(2) K (b) A-(3), B-(4), C-(1), D-(2).
(¢) A-(3), B-(1), C-(4),D-(2) & . (@ A-(3), B-(1), C-(4), D-(2)
(d) A-(4), B-(3), C-(2), D-(1) ~ = (d) A%(4), B-(3), C-(2), D-(1)

141- Non-conventional energy sources are thosg 141 R—uNuR® wort |rq 3 Wid & o fs —

energy sources, that are -

(@) Produced from (b) Renewable | (@) faggat I_EI_%‘ \)m/l o & ’_
electricity (©) ' g & (d) e -

(¢) Produced from heat (d) Non-renewable .

How many railways stations have been identified . 142 5Ra9), 2023 9F SR R "I IRA RIH
for modernization under “Amrit Bharat Station TISHT" 9) TEd ARSI S o fbay Yo

142.

Scheme” in Uttar Pradesh as on February, 2023? P TS B
(@) 149 (b) 57 (@) 149 ) 57
() 123 (d) 82

23 (d) 82

tr\’?r fa argrieeiy wr § Rerg ¥?

(a) Troposphere (b) Mesosphere a) &ny HEe (b) HSd
(¢) Thermosphere (d) Stratosphere ( G ER] , @) IHaY "qeq

What caused wind to deflect towards left in_ 14% Sfeofl Tremt % g1 @1 9 ik faefir _Eﬁ_'}f Pl

Southern Hemlsphere?

143. ‘Ozone layer absorbing ultra - violet radiation 143

exists in which of the atmospheric layer?

144.

T HROT 7
(a) Temperature (b) Pressure (a) NIEEIE] (b) ;‘E“E'
_ (©) Magnetic Field () Coriolis force (or gaar ér PRIfe Tt
145 Which one of the following is the main objectwe 14y Frfeifaa 3 & @ Grvrvﬁ R AT B
of Janani Suraksha Yojana? g JeTT 87
(@) Reduction in neo-nata| mortality rate only (a) TS FY &% § )
(b) Reduction in Mmaterng| and neo-natal ) 'H'I'q’ ﬂ‘ﬂ'\"ﬁ‘m BRI ‘Fﬂ 3? y H
mortality rate ' '
(©) Reduction in infant mortality rate only - (o) daer Rig T XA B
(d) Reduction in materna mortality rate only , (d) B Y TG &R A HH)

[D-1-23] 153101 e
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146. With reference to ‘PM Gati Shakti Scheme’

which of the following statement/s is/are
" correct? '

(1) The PM Gati Shakti Schemé-NationaI Plan was
launched in 2022,

(2) The PM Gati Shakti Scheme pertains to seven
engines (Roads, Railways, Airports, Ports,
Mass Transport, Waterways, Logistics
Infrastructure). NIP will be aligned with PM
Gati Shakti Framework.

Select the correct answer from the code gi\}en

below -

Code -

(@) Neither 1 nor2 (b) Only 2
(c) Both1and?2 (d) Only 1

147.

following statements is correct?

(1) Information about the Mauryan dynasty is
found in the Vishnu Puran.

(2) Vayu Puran throws light on the Gupta’s
governance system.

(a) Both1and 2

(c) Only 2

(b) Only 1
(d) Neither 1 nor 2
148
Proponent) is correctly matched?
(2) Uttara Mimansa —
Kapila
(c) Nyaya— Gautama

(b) Mimansa — Kanada

(d) vaisheshika —
Patanjali

With reference to the Puranas, which one of the |

. Which of the following pairs (School of Thought -

e T —

Mmﬁmﬂm’@mﬁ,w@aﬁ
QA /% o WE 8 /87
RS qmﬁﬁ—m@uf‘mmfmgm‘mozz
A fopar AT AT 3
G SrRiRE UgY @ (Gramg )
saREel) @ wafta uRarsred dgE. fd

ofrd & @ 5T ST |

PreferRa. o gt -
'EE\E__

147 & 2 HaA 2

f1aiR 2 (d) Paet 1

(2) T QRIVT [T G Y A AR R DT
SECI '
Mﬂ/'marrz (b) BaeT 1
2 dadar1sms 2

148. ¥ eF W TH (S - TERS)

wel gAfe &7
(@) W e — e (b) WA — T (TE)
‘.‘_/Knm—maﬂ R — Tt

149. “Mount Newman’ is famous for which of the L149, : T"lfﬂ frfafaa # ¥ frw @fw @ e
following minerals? &7
(@) Copper (b) Manganese (a) g \Mq:h\—,{
() Iron ore (d) Bauxite () %t o (d) dfeTIEe
150. Who among the following has authored the book 150 Arferirer ¥ fpem ey e fod @7
“Spare”? (@) Ry e \Wé‘ﬂ R
(a) King Charles (b) prince Harry © i R .
(©) Prince Williams  (9) Prince Phillip . () e fpfera
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